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CLASS-XII (2014-2015)
QUESTION WISE BREAK UP
Type of Question Mark per Total No. of Total
Question Questions Marks
VSA 1 6 06
LA-I 4 13 52
LA-II 6 7 42
Total 26 100
1. No chapter wise weightage. Care to be taken to cover all the chapters.
2 The above template is only a sample. Suitable internal variations may be made for generating

similar templates keeping the overall weightage to different form of questions and typology

of questions same

CHAPTERWISE MARKS in this Model Question Paper CI-XII (CBSE)

Sr. TOPICS V SA LA iw ARIESA il
No (1M) (4M) (6M) Total Marks
la Relation & Function 1 - - 1
1b Binary operation 1 4 10
lc Inverse Trig. Func 1 1 OR - 5
2.a Matrices I+1+ 1 8 13
b Determinant 1 1 - 5
3.a. | Continuity, Differentiability 1+ 1+1 - 12
b. Applications Of Derivative 1 1OR | 10
c. Indeﬁrpte Integral 1 OR - 3 44
Definite Integral 1 -
Applications Of Integrals - 1 6
e Differential Equations 1+1 8
4.a Vectors 1 1 OR 1 11 17
b | Three Dimensional Geometry 1OR| 6
5. Linear Programming - 1 6
6. Probability 1 OR 1 10
TOTAL 6 13 7 100
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[Model Test—09(Q)/XII (14-15)_20th Nov’14] MODEL TEST [FM-100 /Time—180 min.]
(Pre-Board CI-XII CBSE)

General Instructions :

1) All questions are compulsory.

i1) The question paper consists of 26 questions divided into three sections A, B and C. Section A comprises
of 6 questions of one mark each, Section B comprises of 13 questions of four marks each and section C
comprises of 07 questions of six marks each.

iii) All questions in Section A are to be answered in one word, one sentence or as/pe\the exact

requirement of the question.
iv) There is no overall choice. However, internal choice has been provided in 04 questions of four marks
each and 02 questions of six marks each. You have to attempt only one of the/cﬂre\m tives in all such

questions.
V) Use of calculator is not permitted. You may use logarithmic tables, if required,

f \
Section-A (01 mark each ) \>

I. Show that the relation R in R defined as R ={(a, b) : a< b} is reﬂex\% itive but not symmetric.

2. Simplify: tan-{m”‘b‘sm"}if 2 tanx> 1.
\ a 0 0

b.cosx +a.sin x

3. If ,{2}_}{_1} =FO}, find the values of x and vy.
3 1 5

4, If a, b, ¢ are three non-zero real numbe&h i ematrix 4_|o 5 o
0 0 ¢
5. Find the area of the triangle whose vettices are q and (5, 1). (using Determinant).
Find the equation of the line passing thr 1 and parallel to the vector (3§+ 23—212) X

Section-B (04 marks each )

7.
8.
9.
x, if x <1 . . . . _
10. } . Isf is continuousatx=0? Atx=1? Atx=27?
5, if x>1
1 d>f d d?
11. rove that £/ _, 3% 44V
z dx? dz g2
. . 2
12. If sin y = x.sin (a + y), prove that, 9 _sin“(@+y) [aznm, n=0,1,2,....]
dx sin a
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

A ladder AB of length 5 metres, moves with its end A on a horizontal plane and end B on a wall
perpendicular to the horizontal plane. If A moves at the rate of 2 m/sec and is at a distance of 4 metres
from the wall, then how fast the end B will descend ?

dx
. N 1
Evaluate : j ( 1)( 2)( 3) OR, Evaluate : I(x +1)

sin x + cos x
X
9+16sin2x

K
4
Evaluate : I
0

d
Find the particular solution of the following differential equation :d—y +

when x:%y:O

Five cards are drawn successively wit
probability that (i) all the five ca

Section-C (06 marks each

was given the shape of a ¢itcle. Find the lengths of the parts, so as to make the sum of the areas of the

square and the circle mifimum.
Using integration, find the area of the region enclosed between the curves x>+ y2 =4 and

X2+ y2 —2x=0.
Find the area of the triangle with vertices A (1, 1,2), B(2, 3, 5)and C (1, 5, 5).
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24.

25.

26.

Find the image of the point (1, 6, 3) in the line ?: YT_I —Z-

Find the equation of the plane through the line of in y+ llland 2x + 3y +

4z =5 which is perpendicular to the

e of computers which the merchant
invest more than <70 lakhs and if his profit

o reside in hostel and 40% are day scholars (not residing
% of all students who reside in hostel attain A grade and

“The true order of learning should be,
first, what is necessary ;

second, what is useful;
and

third, what is ornamental .
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